Name:

Find the quotient.
3.3 _
5710

A Smooth Hight jet carried 6,060 passengers last week, and all of its
flights were full.
How many flights did the jet make last week?

Jet Ser 291
Smooth Flight oY
Blue Skies 125
Cloud Mover 60

The jet made I:l flights last week.

Find 3.52-28.

The solution is D

Find the prime faciorization of 12.

12

Enter the integer that represents the situation, and tell what 0
represents in that situation.

The temperature was 3 degrees below zero.
The integer is I:]

The O represents a temperature of 0\3 zervro d Qqrees
’/ Choocze ore b) 5 de,g Tees

below zero

¢) 5 dearees
»)




Graph the infeger and its opposite on the number line.
—2

The opposite of -2 is D

4 4 7 4+ S5 H# 2 2 - © 1 T 3I U 5

0 -2 ) opposite of -2

Select the quadrant where the point is located.
19, 16)

The point is located in Quadrant|____

The two points are reflections of each other across the x- or y-axis.
Select the axis of reflection.
(4, —8) and (-4, 8)

The axis of reflection i -

Select the reflection of the point across the given axis.
{(~15, 19} and x-axis

The coordinate of the reflection point is |

(0]

Select <, >, or =.

072
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Members of the Ozark
Trail Hiking Club hiked a
steep section of the trail in
June and July. The table
shows the distances club
members hiked in miles.

Enter Maria's July distance as a decimal.

Maria hiked [:_—_| miles in July.

IZ

Choose the best term from the box o complete the sentence.
o) equivalent Fractions

The fractions é and ]—35 are b,) Yhs)(ed \ﬂumbers
@) common denomingiors

(3

Compare the numbers. Enter <or >.

~q[ |-

I

Enter the numbers in order from least to greatest.

10,0, -7

[ <l J<[_]

15

Judy is scuba diving at —9 meters, Nelda is scuba diving at —11
meters, and Rod is scuba diving at —2 meters.

List the divers in order from the deepest diver to the diver who is
closest to the surface. ‘

The divers in order from deepest to closest 1o the surface are
' ,and| 7.

L4
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Choose a rational number that can replace 2 to make both

statements frue.

>

17

Jeandre said I equals -4l

Is Jeandre correct? Complete the explanation.

.l
Jeandre is

——

On the number line, Bl is :} units from 0 and [l is

:] units. They have the same number units from
0.

3

Compare <, >,0r =

17 |0l

Enter the values in order from least 1o greatest.

Hul, 151, el 11l

The values in order from least 1o greatest are Di, l[jl,,

|, and é .

20

In November, the price of a cell phone was double the price in
March. In December, the price was $59, which was $27 less than the

price in November.
What was the price of the cell phone in March?

The price of the cell phone in March was E
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Graph the pair of points. Then find the distance between them.

(3. %) and (-3, -9)
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The distance between the two poinis is D unit(s).

27

Enter the percent as a fraction.

23

Enter the percent us a decimal.

5%=| |

24

Enter the fraction as a percent.

10

25

Enter the decimal as a percent.

0772=] %

Find the percent of the quantity.

80%ofuo=] |




